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# 25 » Q65 4SXS-5-1100 Mean: 5HE6 680 80 3 ||# 26 a AKJ 3NN3 600 Mean: 3NN4 630 1.0 2
v 83 5HEG6 -680 -1010 4HE6 680 80 1 v AK54 3NN3 600 600 A 00 2
¢ 642 Dif: -420 NS:-3 A 00 2 + 983 Dif: 0 NS:0 3NN3 600 0.0 6
& J7432 IMP: -9 EW:-8 4SXS-5 -1100 -3.0 1 & Q97 IMP: 0 EW:0
49 & AKT73 6HE6 -1430 9.0 3 ||a QT963 & 542
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N ~~~~~ v Q7 N 434~4 9J72
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¢ 7543 Dif: 170 NS:4 A 00 2 ¢ AT97 Dif: -100 NS:1  3NW-2 100 20 1
& 752 IMP: 5 EW:1 3NS-1 50 1.0 1 & J4 IMP: -3 EW:-4 4HW-1 50 1.0 1
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¢ AKJ62 ¢ T8 ¢ K85 ¢ Q6 1NW1 -90 3.0 1
& T63 » A84 » AK832 & T5 2HE3 140 40 1
P ¢ VBN o, KQTI7 LJ SN o KT3 2HE2 110 40 1
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+ AB62 Dif: -30 NS:1  1NN1 90 1.0 3 o AT973 Dif: 0 NS:2 3NW-1 50 20 1
» K8 IMP: -1 EW:2 A 00 2 & A94 IMP: 0 EW:-2 2NW-1 50 20 1
& KT53 \ s J62 1NN-1 100 -40 1 ||s A4 » KQ76 2NE-1 50 20 1
v AB53 v K8 1HN-1 100 -40 1 ||v Q84 v KT6 A 00 2
+ KQ9 + * J754 + QJ52 + K84 INW2 20 30 1
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# 23 a Ad 4SS-1 -100 Mean: 3NS3 600 80 2 ||# 24 » 976 2SN-1-50 Mean: 1NN3 150 50 1
v QJ4 4SS-1-100 250  3NN3 600 80 2 v AJ7 3HE3 -140 -20  1NS1 90 30 1
+ KQ9763 Dif: 0 NS:-8 A 00 2 ¢ 952 Dif: 90 NS:-1  2DW-1 50 20 1
& 32 IMP: 0 EW:8 4SS-1 100 -80 4 & A843 IMP: 3 EW:3 A 00 2
& KQ72 a5 aJT & 5432 3CN-1 -50 1.0 1
v KT5 + v 9763 v T852 v KQ96 2SN4 50 40 1
¢ 82 ¢ T54 ¢ AKJ7 ¢ 843 3HE3 140 3.0 2
& Q974 S » AJT65 ~ QT7 » K6 2HE2 410 3.0 1
oo VAN o,JT9863 %o VABN o AKQS
N ~4~33 vA82 N 1~~1~ 43
S ~4~33 ¢AJ S 1~~1~ ¢QT6
E1~~~~ akK8 E ~33~1 &J952
W 1~~~ ~ ~33~1
# 25 » Q65 6HEG6 -1430 Mean: 5HE6 680 80 3 ||# 26 a AKJ 3NN3 600 Mean: 3NN4 630 1.0 2
v 83 5HEG6 -680 -1010 4HE6 680 80 1 v AK54 3NN3 600 600 A 00 2
¢ 642 Dif: -750 NS:-9 A 00 2 + 983 Dif: 0 NS:0 3NN3 600 0.0 6
& J7432 IMP: -13 EW:-8 4SXS-5 -1100 -3.0 1 & Q97 IMP: 0 EW:0
49 & AKT73 6HE6 -1430 9.0 3 ||a QT963 & 542
v JT6 v AK9542 v QT9 _I_ v 863
+ KQJ953 *T7 *A ¢ J7642
& 8 a5 » JT43 & A5
oo VBN 4, JT842 o ¢VABN 487
N ~~~~~ v Q7 N 434~4 9J72
S ~~~~~ + A8 S 434 ~4 ¢KQT5
E ~66~6 &KT9% E ~~~~~ » K862
w ~66~6 W~~~ ~~
# 27 » J8 3NN-1-50 Mean: 2SS3 140 40 1 ||# 28 » J98 3NW-4 200 Mean: 3NW-4 200 50 1
v AQJ8 3NN-1-50 -10  2NN2 120 40 1 v J754 2HE2 110 20  3NW-3 150 40 1
¢ 7543 Dif: 0 NS:-1 A 00 2 ¢ AT97 Dif: 310 NS:5 3NW-2 100 20 1
& 752 IMP: 0 EW:1 3NS-1 50 1.0 1 & J4 IMP: 7 EW:4 4HW-1 50 1.0 1
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# T843 s Q 4SN5 650 20 3 ||a J8732 s 95
v J6542 v Q93 A 00 2 ||v 987 — v AK54
*T83 | + KQJ2 6SN-1 100 -120 1 |[e QT65 » A97
T & 97432 a4 » Q965
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# 23 a Ad 4SS-1 -100 Mean: 3NS3 600 80 2 ||# 24 » 976 3HE3 -140 Mean: 1NN3 150 50 1
v QJ4 3NS3 600 250 3NN3 600 80 2 v AJ7 3CN-1-50 -20 1NS1 90 30 1
+ KQ9763 Dif: -700 NsS:-8 A 00 2 ¢ 952 Dif: -90 NS:-3 2DW-1 50 20 1
& 32 IMP: -12 EW:-8 4SS-1 100 -80 4 & A843 IMP: -3 EW:1 A 00 2
& KQ72 a5 aJT & 5432 3CN-1 -50 1.0 1
v KT5 + v 9763 v T852 v KQ96 2SN4 50 40 1
¢ 82 ¢ T54 ¢ AKJ7 ¢ 843 3HE3 140 3.0 2
& Q974 S » AJT65 ~ QT7 » K6 2HE2 410 3.0 1
oo VAN o,JT9863 %o VABN o AKQS
N ~4~33 vA82 N 1~~1~ 43
S ~4~33 ¢AJ S 1~~1~ ¢QT6
E1~~~~ akK8 E ~33~1 &J952
W 1~~~ ~ ~33~1
# 25 » Q65 6HEG6 -1430 Mean: 5HE6 680 80 3 ||# 26 a AKJ 3NN4 630 Mean: 3NN4 630 1.0 2
v 83 5HEG6 -680 -1010 4HE6 680 80 1 v AK54 3NN4 630 600 A 00 2
¢ 642 Dif: -750 NS:-9 A 00 2 + 983 Dif: 0 NS:1  3NN3 600 0.0 6
& J7432 IMP: -13 EW:-8 4SXS-5 -1100 -3.0 1 & Q97 IMP: 0 EW:-1
49 & AKT73 6HE6 -1430 9.0 3 ||a QT963 A 542
v JT6 v AK9542 v QT9 _I_ v 863
+ KQJ953 *T7 *A ¢ J7642
& 8 a5 » JT43 & A5
oo VBN 4, JT842 o ¢VABN 487
N ~~~~~ v Q7 N 434~4 9J72
S ~~~~~ + A8 S 434 ~4 ¢KQT5
E ~66~6 &KT9% E ~~~~~ & K862
W ~66~6 W~~~
# 27 » J8 3NN-3 -150 Mean: 2SS3 140 40 1 ||# 28 » J98 1NW1 -90 Mean: 3NW-4 200 50 1
v AQJ8 2SS3140 -10  2NN2 120 40 1 v J754 3NW-2100 20  3NW-3 150 40 1
¢ 7543 Dif: -290 NS:-4 A 00 2 ¢ AT97 Dif: -190 NS:-3 3NW-2 100 20 1
& 752 IMP: -7 EW:-4 3NS-1 50 1.0 1 & J4 IMP: -5 EW:-2 4HW-1 50 1.0 1
& 65 a A432 3NN-1 50 1.0 4 ||a Q65 a A742 3HE-1 50 1.0 1
v 654 v T732 3NN-3 4150 -40 1 ||e Q6 | v A9832 A 00 2
¢ AKJ62 ¢ T8 ¢ K85 ¢ Q6 1NW1 -90 3.0 1
& T63 » A84 » AK832 & T5 2HE3 140 40 1
L J S N » KQT97 LJ SN o KT3 2HE2 110 40 1
N 2~~31 ¢K9 N ~~~~~ v KT
S 2~~31 Q9 S ~~~~ ~ o J432
E ~~~~~ & KQJ9 E 2~321 &Q976
W o~~~ ~ ~ 2~32
# 29 s Q84 1NN1 90 Mean: 1NN2 120 2.0 2 ||# 30 s 92 1NW2 -120 Mean: 3NE-2 100 30 1
v T942 1HN-1-100 50  1HN2 110 20 1 v A72 3NE-2100 -20  2NE-2 100 30 1
+ AB62 Dif: 190 NS:1  1NN1 90 1.0 3 o AT973 Dif: -220 NS:-3  3NW-1 50 20 1
» K8 IMP: 5 EW:4 A 00 2 & A94 IMP: -6 EW:-3 2NW-1 50 20 1
& KT53 \ s J62 1NN-1 100 -40 1 ||s A4 » KQ76 2NE-1 50 20 1
v AB53 v K8 1HN-1 100 -40 1 ||v Q84 v KT6 A 00 2
+ KQ9 + * J754 + QJ52 + K84 INW2 20 30 1
& Q9 & T752 » Q862 & JT7 2NW3 150 -4.0 1
% ¢ VABN 4A07 % ¢ VBN 4 JT853 2SXS-2 300 7.0 1
N 2~2~1 »QJ7 N ~~11~ »J953
S 2~2~1 ¢T3 S ~~11~ 6
E ~~~~~ & AJ643 E 11~~2 &K53
W o~~~ ~ ~ 11~~2
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# 21 » KJ62 4SN5 -650 Mean: 4SS7 710 40 1 |[# 22 s KT4 1NS2 -120 Mean: 3NS3 400 7.0 1
v T87 4SS6 -680 570  4SS6 680 3.0 1 v T32 1NS2 120 110 A 00 2
+ A976 Dif: 30 NS:3 4SN6 680 3.0 1 + K8 Dif: 0 NS:0 1NS2 120 00 5
» J5 IMP: 1 EW:-2 4SS5 650 2.0 1 & JT732 IMP: 0 EW:0 3NS-1 50 4.0 2
# T843 s Q 4SN5 650 20 3 ||a J8732 s 95
v J6542 v Q93 A 00 2 ||v 987 — v AK54
*T83 | + KQJ2 6SN-1 100 -120 1 |[e QT65 » A97
T & 97432 a4 » Q965
o4 VBN 4 A975 ¢V ABN 4, AQ6
N 6~~76 vAK N 2~~~2 »QJ6
S 6~~76 54 S 2 ~~~2 ¢J432
E ~~~~~ & AKQ86 E ~111~ &AK8
W o~~~ ~ ~ ~111~
# 23 a Ad 3NS3 -600 Mean: 3NS3 600 80 2 ||# 24 » 976 2HE2 110 Mean: 1NN3 150 50 1
v QM 3NN3 -600 250  3NN3 600 80 2 v AJ7 1NS1-90 20  1INS1 90 30 1
+ KQ9763 Dif:0 NS:8 A 00 2 ¢ 952 Dif: 200 NS:3 2DW-1 50 20 1
& 32 IMP: 0 EW:-8 4SS-1 100 -80 4 & A843 IMP: 5 EW:3 A 00 2
& KQ72 a5 o JT & 5432 3CN-1 -50 1.0 1
v KT5 + v 9763 v T852 v KQ96 2SN4 50 40 1
¢ 82 ¢ T54 ¢ AKJ7 ¢ 843 3HE3 140 3.0 2
& Q974 S » AJT65 ~ QT7 » K6 2HE2 410 3.0 1
oo VAN o,JT9863 %o VABN o AKQS
N ~4~33 vA82 N 1~~1~ 43
S ~4~33 ¢AJ S 1~~1~ ¢QT6
E1~~~~ akK8 E ~33~1 &J952
W 1~~~ ~ ~33~1
# 25 » Q65 4SXS-51100 Mean: 5HE6 680 80 3 ||# 26 a AKJ 3NN3 -600 Mean: 3NN4 630 1.0 2
v 83 5HE6 680 -1010 4HE6 680 80 1 v AK54 3NN3 -600 600 A 00 2
¢ 642 Dif: 420 Ns:8 A 00 2 + 983 Dif: 0 NS:0 3NN3 600 0.0 6
& J7432 IMP: 9 EW:3 4SXS-5 -1100 -3.0 1 & Q97 IMP: 0 EW:0
49 & AKT73 6HE6 -1430 9.0 3 ||a QT963 & 542
v JT6 v AK9542 v QT9 _I_ v 863
+ KQJ953 *T7 *A ¢ J7642
& 8 a5 & JT43 & A5
oo VBN 4, JT842 o ¢VABN 487
N ~~~~~ v Q7 N 434~4 9J72
S ~~~~~ + A8 S 434 ~4 ¢KQT5
E ~66~6 &KT9% E ~~~~~ & K862
w ~66~6 W~~~ ~~
# 27 » J8 2NN2 -120 Mean: 2SS3 140 40 1 ||# 28 » J98 4HW-1 -50 Mean: 3NW-4 200 50 1
v AQJ8 3NN-150 -10  2NN2 120 40 1 v J754 3NW-3-150 20 3NW-3 150 40 1
¢ 7543 Dif: -170 NS:-1 A 00 2 ¢ AT97 Dif: 100 NS:4 3NW-2 100 20 1
& 752 IMP: -5 EW:-4 3NS-1 50 1.0 1 & J4 IMP: 3 EW:-1  4HW-1 50 1.0 1
& 65 a A432 3NN-1 50 1.0 4 ||a Q65 a A742 3HE-1 50 1.0 1
v 654 v T732 3NN-3 4150 -40 1 ||e Q6 | v A9832 A 00 2
¢ AKJ62 ¢ T8 ¢ K85 ¢ Q6 1NW1 -90 3.0 1
& T63 » A84 » AK832 & T5 2HE3 140 40 1
L J S N » KQT97 LJ SN o KT3 2HE2 110 40 1
N 2~~31 ¢K9 N ~~~~~ v KT
S 2~~31 ¢Q9 S ~~~~~ ¢ J432
E ~~~~~ & KQJ9 E 2~321 &Q976
W o~~~ ~ ~ 2~32
# 29 s Q84 1NN1 -90 Mean: 1NN2 120 2.0 2 ||# 30 s 92 3NW-1-50 Mean: 3NE-2 100 30 1
v T942 1NN2 -120 50  1HN2 110 20 1 v A72 2NW-1-50 -20  2NE-2 100 30 1
+ AB62 Dif: 30 NS:2  1NN1 90 1.0 3 o AT973 Dif: 0 NS:2 3NW-1 50 20 1
» K8 IMP: 1 EW:-1 A 00 2 & A94 IMP: 0 EW:-2 2NW-1 50 20 1
& KT53 \ s J62 1NN-1 100 -40 1 ||s A4 » KQ76 2NE-1 50 20 1
v AB53 v K8 1HN-1 100 -40 1 ||v Q84 v KT6 A 00 2
+ KQ9 + * J754 + QJ52 + K84 INW2 20 30 1
& Q9 & T752 & Q862 & JT7 2NW3 150 -4.0 1
% ¢ VABN 4A07 % ¢ VBN 4 JT853 2SXS-2 300 7.0 1
N 2~2~1 »QJ7 N ~~11~ »J953
S 2~2~1 ¢T3 S ~~11~ 6
E ~~~~~ & AJ643 E 11~~2 &K53
W o~~~ ~ ~ 11~~2
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# 21 » KJ62 4SS7 710 Mean: 4SS7 710 40 1 |[# 22 s KT4 3NS3 400 Mean: 3NS3 400 7.0 1
v T87 4SS5650 570  4SS6 680 3.0 1 v T32 1NS2120 110 A 00 2
+ A976 Dif: 60 NS:4 4SN6 680 3.0 1 + K8 Dif: 280 NS:7 1NS2 120 00 5
» J5 IMP: 2 EW:-2 4SS5 650 2.0 1 & JT732 IMP: 7 EW:0 3NS-1 50 4.0 2
# T843 s Q 4SN5 650 20 3 ||a J8732 s 95
v J6542 v Q93 A 00 2 ||v 987 — v AK54
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# 23 a Ad 4SS-1-100 Mean: 3NS3 600 80 2 ||# 24 » 976 1NN3 150 Mean: 1NN3 150 50 1
v QM 3NN3 600 250  3NN3 600 80 2 v AJ7 2DW-150 -20  1NS1 90 30 1
+ KQ9763 Dif: -700 NsS:-8 A 00 2 ¢ 952 Dif: 100 NS:5 2DW-1 50 20 1
& 32 IMP: -12 EW:-8 4SS-1 100 -80 4 & A843 IMP: 3 EW:2 A 00 2
& KQ72 a5 aJT & 5432 3CN-1 -50 1.0 1
v KT5 + v 9763 v T852 v KQ96 2SN4 50 40 1
¢ 82 ¢ T54 ¢ AKJ7 ¢ 843 3HE3 140 3.0 2
& Q974 S » AJT65 ~ QT7 » K6 2HE2 410 3.0 1
oo VAN o,JT9863 %o VABN o AKQS
N ~4~33 vA82 N 1~~1~ 43
S ~4~33 ¢AJ S 1~~1~ ¢QT6
E1~~~~ akK8 E ~33~1 &J952
W 1~~~ ~ ~33~1
# 25 » Q65 6HE6 -1430 Mean: 5HE6 680 80 3 ||# 26 a AKJ 3NN3 600 Mean: 3NN4 630 1.0 2
v 83 4HEG6 -680 -1010 4HE6 680 80 1 v AK54 3NN3 600 600 A 00 2
¢ 642 Dif: -750 NS:-9 A 00 2 + 983 Dif: 0 NS:0 3NN3 600 0.0 6
& J7432 IMP: -13 EW:-8 4SXS-5 -1100 -3.0 1 & Q97 IMP: 0 EW:0
49 & AKT73 6HE6 -1430 9.0 3 ||a QT963 A 542
v JT6 v AK9542 v QT9 _I_ v 863
+ KQJ953 *T7 *A ¢ J7642
& 8 a5 » JT43 & A5
oo VBN 4, JT842 o ¢VABN 487
N ~~~~~ v Q7 N 434~4 9J72
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E ~66~6 &KT9% E ~~~~~ & K862
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# 27 » J8 3NN-1-50 Mean: 2SS3 140 40 1 ||# 28 » J98 3HE-150 Mean: 3NW-4 200 50 1
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¢ 7543 Dif: 0 NS:-1 A 00 2 ¢ AT97 Dif: 190 NS:1  3NW-2 100 20 1
& 752 IMP: 0 EW:1 3NS-1 50 1.0 1 & J4 IMP: 5 EW:4 4HW-1 50 1.0 1
& 65 a A432 3NN-1 50 1.0 4 ||a Q65 a A742 3HE-1 50 1.0 1
v 654 v T732 3NN-3 4150 -40 1 ||e Q6 | v A9832 A 00 2
¢ AKJ62 ¢ T8 ¢ K85 ¢ Q6 1NW1 -90 3.0 1
& T63 » A84 » AK832 & T5 2HE3 140 40 1
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¢ 7543 Dif: 0 NS:0 A 00 2 ¢ AT97 Dif: 0 NS:0 3NW-2 100 20 1
& 752 IMP: 0 EW:0 3NS-1 50 1.0 1 & J4 IMP: 0 EW:0 4HW-1 50 1.0 1
& 65 a A432 3NN-1 50 1.0 4 ||a Q65 a A742 3HE-1 50 1.0 1
v 654 v T732 3NN-3 4150 -40 1 ||e Q6 | v A9832 A 00 2
+ AKJ62 ¢ T8 ¢ K85 ¢ Q6 1NW1 -90 3.0 1
& T63 » A84 » AK832 & T5 2HE3 140 40 1
P ¢ VBN o, KQTI7 LJ N & KT3 2HE2 110 40 1
N 2~~31 ¢K9 N ~~~~~ v KT
S 2~~31 4Q9 S ~~~~~ ¢ J432
E ~~~~~ & KQJ9 E 2~321 &Q976
W~~~ ~ ~ 2~32
# 29 s Q84 A Mean: 1NN2 120 2.0 2 ||# 30 s 92 A Mean: 3NE-2 100 30 1
v T942 A 50  1HN2 110 20 1 v A72 A 20 2NE-2 100 30 1
«» AB62 Dif: 0 NS:0 1NN1 90 1.0 3 ¢ AT973 Dif: 0 NS:0 3NW-1 50 20 1
» K8 IMP: 0 EW:0 A 00 2 & A94 IMP: 0 EW:0 2NW-1 50 20 1
& KT53 \ s J62 1NN-1 100 -40 1 ||s A4 » KQ76 2NE-1 50 20 1
v AB53 v K8 1HN-1 100 -40 1 ||v Q84 v KT6 A 00 2
+ KQ9 + * J754 + QJ52 + K84 INW2 20 30 1
& Q9 & T752 & Q862 & JT7 2NW3 150 -4.0 1
% ¢ VABN 4A07 % ¢ VBN 4 JT853 2SXS-2 300 7.0 1
N 2~2~1 »QJ7 N ~~11~ »JO953
S 2~2~1 ¢T3 S ~~11~ 6
E ~~~~~ & AJ643 E 11~~2 &K53
W o~~~ ~ ~ 11~~2




